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j A M aC L\ “p € is a device that allows vou to do work in a way that 1s easier or more effective.

0 l/\) avr \_ is done on an object when the object moves in the same direction in which the force

k’/o 6 is exerted. —

/?' You exert a force of 62N 1o lift a box onto a table that is 0.5 m tall. How much work is done?
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* If you did 84 Joules of work to push a chair across the living room 2 ,,,.,1 the-char—wermhed-20 N. then how
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= A machine can make work easier in 3 ways: F
o By changingthe QAW O v b-\:_of force vou exert;
By changing the (S ¢ @over which you exert your foree: or }
o By changing the (‘X (¥ €CT O N in which you exert your force.
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= A machinefs AL " W 0\| mec "\O\V\‘C‘\‘ is the number ofnzlet; a machine increases a
force exerted on it &

e found by comparing the _O_"\* ag"‘ i arcQ tothe
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= [fxen a force on a can-opener and the can-opener exerts a force al is
the mechanical adv: of this machine?
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= In the real world, all machines are slowed down by -p\(\\ Z ﬁ . '\ o \.\

= The € —@9 (< : €<\, of a machine compares the Output Work to the Input Work. and is
expressed as a percent.

= You do 250.000 J of work to cut a lawn with a hand mower. If the work done by the mower is 200.000 J.
what is the efficiency of the lawn mower?
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Suppose the efficiency of a manual pencil sharpener is f the output work needed to sharpen a pencil
‘§ is 4.8 J. how much input work must you do to sharpen the pencil?
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* An | nc ( ‘-"\ < 0( )O‘Q h € isa simple machine with a flat, sloped surface that increases the
DISTANCE over which Your force is exerted and changes the DIRECTION of your force.

o An example of this type of simple machine is... __ A ‘ro\\"’lﬂ
!

*  What is the Mechanical Advantage of an inclined plane with a length of 5 m and a height of 3 m?
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NAV.VAS Cj oce is a simple machine that is thick at one end and tapers to a point. It is like an
inclined plane= motion.

o An example of this type of simple machine is... A X €

= What is the Mechanical Advantage of a wedge with a length of 0.75m and a width of 0.2 m?

= A SC rew is a simple machine that is like an inclined plane wrapped around a cylinder.

c  An example of this type of simple machine is...

" What is the Mechanical Advantage of a screw where the length around the threads is 6cm and the length of
the screw is 2.5cm?

= A I CveoYr isa simple machine that consists of a rigid bar that is free to pivot on a fixed point
called a ‘(:U\k C Ay -

o Anexample of a First Class Lever is...

© An example of a Second Class Lever is...

o An example of a Third Class Lever is...

* Whatis the M.A. of a lever in which the distance from the fulcrum to the input force is 1.2 m and the
distance from the fulcrum to the output force is 0.6 m?

= A \AI\’\ €€ ( ¥ ax /e is a simple machine made of two circular or cylindrical objects
fastened together that rotate about a common axis.

o An example of this type of simple machine is...

*  What is the M.A. of a wheel-and-axle where the radius of the wheel is 38cm and the radius of the axel is
8cm?

= A {p q ’ ( Q \/ is a simple machine made of a grooved wheel with a rope or cable wrapped
aroudd it. /

o An example of this type of simple machine is...

* What is the M.A. of a pulley that has 3 sections of rope supporting the mass?



